
5/2022© COPYRIGHT ARB Europe 2022 

COCINA DESLIZANTE ARB / CAJÓN ARB CON PISO DE RODILLOS 1255 X 435 / KIT LADO DE CAJÓN (IZQUIERDO
+DERECHO) / KIT DE EXTENSIÓN DE PISO DE CAJÓN - MANUAL DE USUARIO

ARB SCHIEBEKÜCHE / ARB-SCHUBLADE MIT ROLLENBODEN 1255 X 435 /  SCHUBLADENSEITENSATZ (LINKS
+RECHTS) /  SCHUBLADENBODENVERLÄNGERUNGSSATZ + BENUTZERHANDBUCH

ARB SLIDE KITCHEN / ARB DRAWER WITH ROLLER FLOOR 1255 X 435 / DRAWER SIDE KIT (LEFT+RIGHT) /  DRAWER 
FLOOR EXTENSION KIT - USER MANUAL

ARB SLIDE COZINHA / GAVETA ARB COM ROLO DE PISO 1255 X 435 / KIT LATERAL DA GAVETA (ESQUERDA
+DIREITA) / KIT DE EXTENSÃO DE PISO DE GAVETA - MANUAL DO USUÁRIO

ARB SCHUIFKEUKEN / ARB LADE MET ROLLENVLOER 1255 X 435 / LADE ZIJKIT (LINKS+RECHTS) / LADE 
UITBREIDINGSSET VOOR VLOER - GEBRUIKERSHANDLEIDING

ARB SLIDE KJØKKEN / ARB SKUFF MED RULLEGULV 1255 X 435 / SIDESETT SKUFFES (VENSTRE+HØYRE) / 
SKUFFEFORBYGGINGSSETT - BRUKERHÅNDBOK

ARB SLIDE KÖK / ARB LÅDA MED RULLGOLV 1255 X 435 / LÅDA SIDOKAT (VÄNSTER+HÖGER) / LÅDA 
FÖRLÄNGNINGSSAT FÖR GOLV - ANVÄNDARMANUAL

VÝSUVNÁ KUCHYNĚ ARB / ARB ZÁSUVKA S VÝSUVNOU PODLAHOU 1255 X 435 / BOČNÍ SADA ZÁSUVKY (LEVÁ
+PRAVÁ) / SADA PRODLOUŽENÍ PODLAHY ZÁSUVKY - UŽIVATELSKÁ PŘÍRUČKA

CUCINA ARB SLIDE/ CASSETTO ARB CON PIANO A RULLI 1255 X 435 / KIT LATERALI CASSETTI (SINISTRA
+DESTRA) / KIT ESTENSIONE PAVIMENTO CASSETTO - MANUALE D'USO

ARB SLIDE KONYHA / 1255 X 435 MÉRETES KÖNYVES FIÓK GÖRGŐS PADLÓVAL / FIÓK OLDALI KÉSZLET (BAL+JOBB) /  
FIÓK PADLÓHOSSZABBÍTÓ KÉSZLET- HASZNÁLATI ÚTMUTATÓ

KUCHNIA ARB SLIDE / SZUFLADY ARB Z PODŁOGĄ NA ROLKACH 1255 X 435 / ZESTAW BOCZNY SZUFLADY (LEWA
+PRAWA) / ZESTAW PRZEDŁUŻENIA PODŁOGI SZUFLADY - INSTRUKCJA OBSŁUGI

ΟΥΖΙΝΑ ARB SLIDE / ΣΥΡΤΑΡΙ ARB ΜΕ ΡΟΛΟ ΔΑΠΕΔΟ 1255 Χ 435 / ΚΙΤ ΣΥΡΤΑΡΙΟΥ (ΑΡΙΣΤΕΡΑ+ΔΕΞΙΑ) / ΚΙΤ ΕΠΕΚΤΑΣΕΩΝ 
ΣΥΡΤΑΡΙΟΥ - ΕΓΧΕΙΡΙΔΙΟ ΧΡΗΣΗΣ

КУХНЯ ARB SLIDE / ЯЩИК ARB С РОЛИКОВЫМ ПОЛОМ 1255 X 435 / БОКОВОЙ КОМПЛЕКТ ЯЩИКА (ЛЕВЫЙ
+ПРАВЫЙ) / КОМПЛЕКТ УДЛИНИТЕЛЯ ПОЛА ЯЩИКА - РУКОВОДСТВО ПОЛЬЗОВАТЕЛЯ"

ARB SLIDE BUCATARIE / SERTAR ARB CU POTEA ROLĂ 1255 X 435 / KIT LATERAL SERTAR (STÂNGA
+DREAPTA) / KIT DE EXTENSIE PARDOSEALA SERTAR - MANUAL DE UTILIZARE

ARB SLIDE KØKKEN / ARB SKUFFE MED RULLEGULV 1255 X 435 / SKUFFESIT SIDE (VENSTRE+HØJRE) / SKUFFE GULV 
FORLÆGNINGSSÆT- BRUGERVEJLEDNING

ARB LIUKKUKEITTIÖ / RULLALAATTIA 1255 X 435 KAARILAATTIKO / LAATIKKO SIVUKIERTO (VASEN+OIKEA) / DRAWER 
LATTIAN JATKEMINEN - KÄYTTÖOHJE

ARB SLIDE CUISINE / TIROIR ARB AVEC FOND ROULANT 1255 X 435 / KIT CÔTÉ TIROIR (GAUCHE+DROITE) / KIT 
D'EXTENSION DE PLANCHER POUR TIROIR - MANUEL DE L'UTILISATEUR

ARB KAYDIRAK MUTFAK ARB ÇEKMECE RULO YER 1255 X 435 / ÇEKMECE YAN KİTİ (SOL+SAĞ) / ÇEKMECE YER 
UZATMA KİTİ - KULLANIM KILAVUZU

1/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT



1

M6×75
8×

C
2×

M6
8×

M6
16×

5 mm
20×

D

ASFP-1 L/H ASFP-2 R/H

ASBRK-2 R/HASBRK-1 L/H

FBRK-1 L/H

1× 1×

FBRK-2 R/H 1× 1×

v1 v2

A1

A2

B3

B2

1× 1×

EFBRK-2 R/HEFBRK-1 L/H

I

J

2× 2×

L

K M N1×
1× 1×

1×
1×

1×

B1

M10 M10M6 M6M617 mm 20 mm
10×10×6× 4×26× 16× 16×

M10 × 40 × 75 mm
6×

G

10 mm
20×

E

6 mm
F

45 × 60 mm
6×

H

36×

© COPYRIGHT ARB Europe 2022 2/20

M6×20 M10×50
8× 6×

M6×25
4×

M6×12 M6×15
3× 4×

M6×20
4×

M6×16
2×

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



2

2

B1A1v1

10×
2

1

3

v2 A2 B2 B3

1

4

2×

2

B3

B1
5

3×

4

3

© COPYRIGHT ARB Europe 2022 3/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



© COPYRIGHT ARB Europe 2022 4/20

2×

7

8

B2

A2A13

RDKEU1355

A2

A1

2

M6×20
8×

M6 M6
8× 16×

A2

A1

5 6

1

1

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



© COPYRIGHT ARB Europe 2022 5/20

4

M6×75
8×

M6
8×

5

C 2×

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



D E F

1 X

2
3

X

2

D E F

6

7

8

© COPYRIGHT ARB Europe 2022 6/20

1

3

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



EFBRK-2 R/HEFBRK-2 R/H EFBRK-1 L/HEFBRK-1 L/H

FBRK-1 L/H FBRK-2 R/H

9

10

11

© COPYRIGHT ARB Europe 2022 © COPYRIGHT ARB Europe 2022 7/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



ASBRK-2 R/HASBRK-1 L/H

M6×12 M6×12

3

2

1

12

13

© COPYRIGHT ARB Europe 2022 8/20

G G

1

2

3

4

14

1

H M10×50 H M10×50

M10 M10

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



10 mm

10 mm

G 4×

M10
4×2

4×H

M10×50
4×

M10
4×

1

15

16

© COPYRIGHT ARB Europe 2022 9/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



ASFP-1 L/H ASFP-2 R/H1 1

2

3

1

17

18

© COPYRIGHT ARB Europe 2022 10/20

2
M6×15

3×

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



19

20 B1A1v1

4

10×

3

3×

B1

1

5

2

B2B1

© COPYRIGHT ARB Europe 2022 11/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



20

B2

v2 A2 B2 B3

2×

1

2×

2

B3

7

6

5

4

3

© COPYRIGHT ARB Europe 2022 12/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



M6×20M6×20

M N

1 1

LK

2 2

21

I

J
22

© COPYRIGHT ARB Europe 2022 13/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



1

25

1

2

3

23

24

© COPYRIGHT ARB Europe 2022 14/20

2

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



27 BA 1× 1×

C 1×

A

28

2

26

1

© COPYRIGHT ARB Europe 2022 15/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



32

1

2

3

=
=

C

31

29
B

30

B

© COPYRIGHT ARB Europe 2022 16/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



35

33

2

3

1

© COPYRIGHT ARB Europe 2022 17/20

34
33 32 31 2930

27 282625

RDKEU1355 + RD1355 / RDRF1355 
+ 

SIDE KIT +  FLOOR EXTENSION KIT
5/2022



37

36

© COPYRIGHT ARB Europe 2022 18/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



© COPYRIGHT ARB Europe 2022 19/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022



ARB Europe s.r.o.
Na Dlouhém č.80, DC2

251 01  Říčany - Jažlovice
Czech Republic

http://arbeurope.com

© COPYRIGHT ARB Europe 2022 20/20
RDKEU1355 + RD1355 / RDRF1355 

+ 
SIDE KIT +  FLOOR EXTENSION KIT

5/2022


	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6
	Stránka 7
	Stránka 8
	Stránka 9
	Stránka 10
	Stránka 11
	Stránka 12
	Stránka 13
	Stránka 14
	Stránka 15
	Stránka 16
	Stránka 17
	Stránka 18
	Stránka 19
	Stránka 20



